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=) UPCOMING ONLINE BATCHES
September 2022

07 SEP 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

14 SEP 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

14 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

21 SEP 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

N 7052477777/7052577777
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Mohit.. 17 hours ago

Thank-you Madam for this very Amazing Class Session

And

My Answers for today's Homework are like-

1). Option A==F9...
Read more

@y GP  REPLY

debasish chakraborty 20 hours ago

Homework :
1. F9

2.76

3.L7.

Read more

@y GPF  REPLY

Nadeem 17 hours ago

Homework Answer

Ans 1 :- Option A :- F9

Ans 2 - Option E :- None of these
Ans 3 :-Option B - L7..

Read more

@y GP  REPLY

h|ﬂ

King's Daughter 20 hours ago

THANKYOU MAM
HOMEWORK
Supported F9
Asking Z6..

Read more

@y GP  REPLY

Shubham jatwa 19 hours ago

Supported- F9
Asking- Z6
Concern- L7
Thirty- R6

fy GP  REPLY

Drishti Singh 13 hours ago

Answer of today's homework

1.A
2.E
3.B.

Read more

@y GP  REPLY

Rityaj Seth 20 hours ago
Homework Answer

Fo

Z6

LY.

Read more

gy oo REPLY

Monika Kumari 17 hours ago

AEBA
g GP  REPLY
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“Security under Hack” is coded as ” Z4 V8 F5 ”
“Common incident Study” is coded as “F5 R8 L6"
“Attention Perfect Game” is coded as “Z9 V7 Z4”

What is the code for ‘Supported’?
(a) F9

(b) Z9

(c) R8

(d) F8

(e) None of these

What is the code for ‘Asking’?
(a) R6

(b) K7

(c) T6

(d) H7

(e) None of these
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1 ¢ ,,?

“Security under Hack” is coded as ” Z4 V8 F5 ” \(/Z)h;t?'S the code for “Concern™
“Common incident Study” is coded as “F5 R8 L6" (b) L7
“Attention Perfect Game” is coded as “Z9 V7 Z4” (c) X6
(d) 17

(e) None of these

What is the code for ‘Concern’?
(a) X7

(b) L7

(c) X6

(d) I7

(e) None of these

What is the code for ‘Thirty’?
(a) R6

(b) B6

(c) R7

(d) G6

(e) None of these
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‘P@Q’ means ‘P is neither greater than nor equal to Q’
‘P*Q’ means ‘P is neither equal to nor smaller than Q’
‘P$Q’ means ‘P is neither smaller than nor greater than Q’
‘P%Q’ means ‘P is not smaller than Q’

‘P#Q’ means ‘P is not greater than Q’

Statements: F*G%HS$I*J#K$SL@M#N
Conclusions: I. F%]

Il. F$I

Il. M*|

(a) None is true

(b) Only I is true

(c) Only Il is true

(d) Either | or Il are true

(e) None of these
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‘P@Q’ means ‘P is neither greater than nor equal to Q’
‘P*Q’ means ‘P is neither equal to nor smaller than Q’
‘P$Q’ means ‘P is neither smaller than nor greater than Q’
‘P%Q’ means ‘P is not smaller than Q’

‘P#Q’ means ‘P is not greater than Q’

Statements: Y*T%0O$IJ@P*X%Z
Conclusions: . O@P

. T*X

I, J#T

(a) Only | and Il are true

(b) Only Il and Ill are true

(c) Only I and Il are true

(d) All are true

(e) None of these
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‘P@Q’ means ‘P is neither greater than nor equal to Q’
‘P*Q’ means ‘P is neither equal to nor smaller than Q’
‘P$Q’ means ‘P is neither smaller than nor greater than Q’
‘P%Q’ means ‘P is not smaller than Q’

‘P#Q’ means ‘P is not greater than Q’

Statements: L$SP,P*U, U@ M, Y*U
Conclusions: . L*Y

.U @ L

.Y * L

(a) None is true

(b) Only Il is true

(c) Only I and Il are true

(d) Only Il and Il are true

(e) All are true
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‘P@Q’ means ‘P is neither greater than nor equal to Q’
‘P*Q’ means ‘P is neither equal to nor smaller than Q’
‘P$Q’ means ‘P is neither smaller than nor greater than Q’
‘P%Q’ means ‘P is not smaller than Q’

‘P#Q’ means ‘P is not greater than Q’

Which of the following symbols should replace the sign
(@) and (%) respectively in the given expression in order
to make the expression E 2 T and S> A definitely true?
E2IZ2R=W=A@T=<W%S

(a) = <

(b) 2, <

(©) >,
(d) <,
(e) <,

IA 11 IA
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Which of the following will be definitely true if the given expression
E=R<V>5S>M=0>X=Y>T is definitely true?

@V<T

(b) X > E

(0)R>M

dYz=R

(e)Y<V
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Seven persons—P,Q, R, S, T, U, and V are sitting in a row facing north but not
necessarily in the same order. Neither R nor S sits adjacent to T. P sits third from
the left end. A person sitting adjacent to P sits four places away from U. Neither P
nor U sits adjacent to R, who sits three places away from S. Q sits two places left of

T T e v e ém? ik G
ATAAD PRSI TR 3T |

%ﬁWQBTR S%Iruﬁmwgpm |=ra‘rp
Gﬁ?qﬁu,k$3maa%,ﬁﬁsﬁ?ﬂ=ran=r§?aa%mﬁ a1 & R
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Seven persons—P,Q, R, S, T, U, and V are sitting in a row facing north but not
necessarily in the same order. Neither R nor S sits adjacent to T. P sits third from
the left end. A person sitting adjacent to P sits four places away from U. Neither P
nor U sits adjacent to R, who sits three places away from S. Q sits two places left of

T.
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R V P S Q U T 23) The number of persons sitting to the left of V is one
more than the number of persons to the right of ?

| | [ veadoRpafemiataen  »ag
3R 9 ATl B =T H TP 3P 872

a) Pb) Tc) Ud)S e) None of these T
|

24%;What is the position of S with respect to Q?

Q® G U s BT M |1 3?2

a) Second to the right b) Immediate left c) Third to the
left

d) Immediate right e) None of these.

25) How many persons are sitting between V and S?

vV 3R s & AeA fpaq safad 98 872

a) As many as between P and U. b) Three c) As many as
to the right of U. d) Two e) Either Cor D
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RV P s Q U T
O S TR D

a) RP b) SU c) SV d) QT e) PU

27) Which of the following statement is/are not true?
fFrafafed & 9 @9 919 $Y9 9@ 81 882

I. Rsits at the left end of the row.

Il. Three persons are sitting between S and T.

lll. Two persons are sitting between person
immediate right of U and Q.

a) Both Il and lll b) Only Il c) Only |

d) Both I and Il e) None of these
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Eight people are L, M, N, O, P, Q, R, and S celebrate their birthday on different dates of the different
month. The birthday of each person is on either 18th or 25th of any month among August, September,
October, and November but not necessarily in the same order. No two persons celebrate their birthday
on the same date of the same month. N celebrates his birthday on an even numbered date of the
month which has an even number of days. The number of persons celebrates birthday before S is one
more than the number of persons celebrates birthday after M, who celebrates birthday on one of the
months after S.O celebrates birthday immediately before R.Three persons celebrate the birthday
between P and M, both of them not celebrate their birthday on November. L celebrates his birthday on

18th August.

TS AfRIL, M, N, 0,P,Q,R, aﬁvwm&mnﬁﬁaﬁ&m&mam@wmwﬁﬁ
AT B | U Safa 1 ST ST R FdaR & o fadt ft aga 1 41
zsmﬁm%wm@ﬁ;w % $Is W 31 aafed v 8 Hg A 1 v
dRIE B AT STHeT T8l 791d & | N (U1 J-Hfed 39 Ha 11 b1 JH BT dTeil IR &l
7411 & forad fe= & G- au gldl 21 s A Ugd SHieH 391 91 Afaddl &1 S, M P 91
ST A9 91d AfRTa) &1 BT W TP 3P 7, 5l S0 §RTR P 31 Ugd STHISH A &
el U WA A SRR HATAT 21 P 3R M P S a1 oafeRT sTHfe % O | B B e RG]
3T e A8 HTd | L 18 3T b1 39T S-HfSH AT 2 | e



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Eight peopleare L, M, N, O, P, Q, R, and S celebrate their birthday on different dates of the different
month. The birthday of each person is on either 18th or 25th of any month among August, September,
October, and November but not necessarily in the same order. No two persons celebrate their birthday
on the same date of the same month. N celebrates his birthday on an even numbered date of the
month which has an even number of days. The number of persons celebrates birthday before S is one
more than the number of persons celebrates birthday after M, who celebrates birthday on one of the
months after S.O celebrates birthday immediately before R.Three persons celebrate the birthday
between P and M, both of them not celebrate their birthday on November. L celebrates his birthday on
18th August.
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el 28. Who among the following person celebrates birthday on August 25th?

Month/Date |18 |25 | fIATCIIad § | DI 25 3R Bl S-HG- AT 872

AUQUSI(31) L ; A.L B.The one who celebrates immediately before N. C.N
D.S E.None of the above

September(30) | N S

October(31) | Q v 29. Four of the foIIowm.g are alike in a certain way and hence form a group.
Who among the following one does not belong to the group? ﬁ‘ill%lir@a H

November(30) |0 |R A IR T Afyd aid %

LAt S

A.P B.S C.The one who celebrates on October 25th D.R
E.The one who celebrates on October 18th

30. Which of the following statement is/are true?
Fafafed § 9 &9 1 YT ad 882

A.L celebrates hisbirthday on September

B.Two persons celebratethe birthday between N and M
C.R celebrates birthday on the same date of N

D.S celebrates birthday immediately after P

E.None of these
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Case-1
Month/Date | 18 25 31. On which of the following date does M celebrates his
Py L > birthda%’a .
ugust(31) Frafafea d 3 fea a8ia &) m 3T s
September(30) | N S HATdT %?
October(31) | Q v Z,As.f:‘ctober 25th B.October 18th C.August
November(30) | O R D.September 18th  E.November 18th

32. As many persons celebrates birthday between P and
Q is same as between __and __?

P 3R q & §9 fora afed s=afe= 991d € Sa- &)
3R S dHAdE?

A.N, LB.S, O C.O, M D.None of these E.S, Q
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a) If only conclusion I follows. 33. Statements:
b) If only conclusion Il follows. C2D<F<E,M2F<L;D>N=20
c) If either conclusion | or Il follows. Conclusions: I).C>NIl). M >0

d) If neither conclusion | nor Il follows.
e) If both conclusions | and Il follows.

34. Statements: B2A>C=0; A<L2M;CsN<Z
Conclusions: 1).B<MIl).0<Z

35.Statements: Z<O>P2K<N; KsL<M<(C;B=2Q
< O Conclusions: 1).B>PIl).C=2P

36. Statements K>02L2A<SCN2O<sW<V;X>Y
< A Conclusions: I). V>AIl).V=A

_E__1 : 30
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits
immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.

3113 =ferd Ui m, N, P, Q, R, S, T 3R HSl U 46 § cifhd STl a1 [P
Tfe M,N,P,Q,R,S T&m U.?Wa%%ﬁs gl
TSI A I g AU TEAT 8 I M 3R p & Sl gl AfFd 93 &1 N, U & 918 § i
PJFIT{@BT%INﬁk%iﬂﬂ%ﬁ@ﬁﬁﬁ%lSﬁQ%éﬂﬂa‘rwﬁ%%%w,R
§T¢ TSRt
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits

immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.
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37. How many persons are sitting between S and R
when counted from left of S? S P I A RAA WX s
3R R P A fha- aafad 9 872

A.2 B.3 C.5 D.6 E.None of these

38. Who sits second to the left of U?
u® aTq @r @‘{ @.n=r R HIF 9871872

A.M D.S E.None of these

39. Who sits opposite of P? P & faudla s 95T 82

A.R B.U C.N D.Q E.None of these

40. Who sits second to the rlght of Q? Q & aﬁ 9
gaﬁ RIT-'-I W B
C.N D. P E.None of these
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Seven persons A, B, C, D, E, F and G are sitting in a row facing north. They have different
ages 10, 12, 18, 20, 25, 26 and 32 but not necessarily in the same order. E sits third from
the extreme end of the row. Two persons sit between E and the one whose age is 18. A is
the youngest person and sits two places away from the one whose age is 18. B is 26 years
old and sits third to the left of F. D sits second to the right of F who is not an immediate
neighbour of G. F is the eldest person. G is elder than E but younger than D.

T K A, B, €, D, E, F 3R 6 T Ui H STR B 3R G B 98 § | ITP1 3ell-
3[ETT 3 10, 12, 18, 20, 25, 26 3R 32 & AfH =31 el [ S PHAA Bl e U &
TR MR IBT R E 3R ForTep! 3mg 18 a9 8, & I &l Afd 9 2
BIeT AT g 3T 18 T8 DI 3TY AT AT H Gl RITH g 93d1 81 B 26 TH BT &
MR FH AU A TR ™M R ISAT 21 D, G W W 46d1 2 F P S Sl G BT
Arecar usRi 181 8. F Jad TeT AR 8. 6, E A T8T ¢ Afp+ D A BT 3|
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Seven persons A, B, C, D, E, F and G are sitting in a row facing north. They have different
ages 10, 12, 18, 20, 25, 26 and 32 but not necessarily in the same order. E sits third from
the extreme end of the row. Two persons sit between E and the one whose age is 18. A is
the youngest person and sits two places away from the one whose age is 18. B is 26 years
old and sits third to the left of F. D sits second to the right of F who is not an immediate
neighbour of G. F is the eldest person. G is elder than E but younger than D.
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G B EA F C D 1.agr’sageis
D 3{1Y
T T TT T T T a) 20 b) 12 ¢c) 26 d) 18 e) 25
20 26 12 10 32 18 25
2. What is the sum of the ages of G and C?
G 3R C P AT BT AT T 872
a) 36 b) 48 c)38d) 42 e) 28

3. The number of persons sits right of C is same as to the

left of c % gl 3R 9 AfFadl Ht &

P 912 3R 9 AfFITl DI AT & JHHE &

a) The one whose age is 26 b) E c) The one
whose age is 20

d) A e)D
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4) Four of the following five pairs are alike in a certain way based
on the given arrangement and so form a group. Which of the
following ones does not belong to that group? a)f Tlé HaRT &
YR R Fafefad uig 9 9 9R site T [Afda adie 3
U & 3R U 94g 9914 5 | fFafafad # 9 19 59 99g
¥ Hafer 781 87

a)Gb)Bc)Dd)Fe)C

5. What is the position of G with respect to the one whose age is 12?
12 99 D 3ATY aTe Afad & T § 6 BT R T 8?2

a) Immediate right b) Immediate left c) Second to the left d) Third to
the right e) Second to the right
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6. Statements: 7. Statements:
R=T=V<F,N=L>F X>H=C<W, G>C=Y
Conclusion: Conclusion:

I).N <V I). W > Y

II).L >R II).H > G

8. Statements:
a) If only conclusion | follows. A=B>C=D>T=V

b) If only conclusion Il follows.

c) If either conclusion | or 1l follows.

d) If neither conclusion I nor Il follows.
e) If both conclusions | and Il follow. II).C>V

Conclusion:
I).A>D
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T Ea 9. Statements: 10. Statements:
Only a few Maida are Bread. All Bags are Jute.
No Bread is Cream. Some Bag is Silk.
All Creams are Cakes. No Silk is Saree.
Some Cake is Wheat. Only a few Sarees are Cotton.
Conclusions: Conclusions:
I. Some Maida is not Cream. I. Some Jute is Cotton.
I1. All Wheat can be Bread. I1. No Cotton is Jute.



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Eight persons P, Q, R, S, T, U, Vand W live on 4 different floors of the same building, such that
bottom-most floor is numbered 1 and the floor above 1 is numbered as 2 and so on till the
topmost floor is numbered as 4. Each floor has two flats, flat 1 and flat 2. Flat 1 is exactly to
the west of flat 2. Only one person lives in each flat. P lives in odd numbered floor in flat 2. R
lives immediately above P. Two floors between R and W and both of them lives in different flat
number. Only one floor between T and S and both of them lives in different flat number. Q
lives immediate northwest of S. U lives below V but not on the adjacent floor.

TS AR P, Q, R, S, T, U, V 3R W TP &l SHRA P 4 - HfoTdl IR Igd &, 9 fp
a9 i &1 4fo/a 1 GBI 1 8 SR 1 A HUR B /ivTd & U= 2 8 3T g4I a3 9ad
SR ARAd P d@IT4 2| TP HRTd A S Telc &, Teic 1 SR Ui 21 T 1 TRic 2 &
3% A A 2 1 U® Felc H bad U Afad IgdT 3| p, Tl 2 § faun I areft |fvra
R IZATIZIR, PP 31H HUR IZAI 2| R 3R W & oI &) diorel @ 3N -1 SIerT- el

T GRATHIZA B 1 T 3R s & A pad U HivTd 3R A ST S1eT-3I Fele I |
%ﬁé'lq,%s$aﬁ$wnfﬁnﬁm%|u,v%ﬁ%m%aﬁo——rwm?ﬁﬁmw
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Eight persons P, Q, R, S, T, U, Vand W live
on 4 different floors of the same building,
such that bottom-most floor is numbered 1
and the floor above 1 is numbered as 2 and
so on till the topmost floor is numbered as
4. Each floor has two flats, flat 1 and flat 2.
Flat 1 is exactly to the west of flat 2. Only
one person lives in each flat. P lives in odd
numbered floor in flat 2. R lives
immediately above P. Two floors between R
and W and both of them lives in different
flat number. Only one floor between T and S
and both of them lives in different flat
number. Q lives immediate northwest of S.
U lives below V but not on the adjacent
floor.
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Floor /Flat . 2 11) Who lives on flat 1 of the 3rd floor?
a v R dRt wfoTd & wie 1 IR I9 Y847 872
S - 5 a)Vb)Tc)Sd)Qe)P
2 Q U 12) As many floors gbov_e U is same as below _?
U Hfore Ia gt 87
' W > a)Pb)Rc)Qd)We)S

13) Who among them lives on even numbered floor?
31U A BIF TH HWAT qrell HioTe TR Igd1 872

) R )T ) Q

a) Only (1) and (1)

b) Only (I1) and (lI)

c) Only (Il)

d) Only (1) and (Ill)

e) All are (1), (1) and (1)
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Floor /Flat 1 2 14) Who lives in flat 1?

a v R 1ﬁaﬁ7ﬂ3?n%?

a)Rb)Uc)Pd)Se)V

3 T P
2 Q U
1 w S

15) Four of the five among the following are similar
in such a way to form a group, which one of the
following doesn’t belong to the group? ﬁ'ﬁﬁ'l'ﬁ?f A
¥ U ¥ ¥ R U6 JHg I & foT 99 §,
fFrafafad 4 3 o7 99z | gefaa T8 872

a)V,Pb)T,Uc)Q,Sd)R, Te)Q,V
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In a certain code language:

“Indian Cuisines are best” is coded as “to ck zg Im”
“You like Indian Cuisines” is coded as “tp Im to mp”
“He like Indian Chinese” is coded as “tp Im cz tz”
“He and you are best” is coded as “yo mp ck tz zg”

16. What is the code for “you he” as per the given code language?
a)mptzb)mpzgc)tzimd) yotpe)totp

17. What is the code for “like” as per the given code language?
a)imb)toc)tpd)cke)zg

18. What may be the possible code for “I like chinese” as per the
given code language?
a)sltolmb)sltpczc)mptpIimd) czimtoe)lmczmp
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In a certain code language:

“Indian Cuisines are best” is coded as “to ck zg Im”
“You like Indian Cuisines” is coded as “tp Im to mp”
“He like Indian Chinese” is coded as “tp Im cz tz”
“He and you are best” is coded as “yo mp ck tz zg”

19. What is the code for “you are best” as per the given code language?
a) mp ck zg b) ck zg tz c) mp ck Im d) ck Im zg e) None of these

20. Which of the following words have the code of “to tp Im mp”?
a) best Cuisines are Indian b) Cuisines you Indian and c) Indian
Cuisines are best d) you like Indian cuisines e) None of these
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A certain number of persons sit in a straight row facing north direction. X sits fifth from the
left end of the row. U sits exactly between X and S. Not more than two persons sit between
X and U. T sits second to the right of S. T doesn’t sit adjacent to U. The one who sits third to
the right of U sits fifth to the left of V. Four persons sit between T and W, who sits third to
the left of Y, who sits third from the end. More than four persons sit between U and Z, who
sits second from one of the extreme ends of the row but not an immediate neighbor of Y.

v fAfa T ﬁmwmﬁmwmgmﬁﬁﬁﬁaﬁ%’lxﬁ
PANSR AT ™R IBTE I U, X MR s P SIF S AISTgI xR U B AT H Gl
3 3P AfR TGS B 1 1,5 & G A gE M W 93181 T, Y & febe T 93181 U
G o L TR 4oT AR UTad AR 9312 I VH TR TR W S A IR
RIS 8, ST Y & I A TR R R 93718, 5l 3id A TR WM IR 93181 U 3R

453, U | A Y VM W 3T

P
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«
#
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A certain number of persons sit in a straight row facing north direction. X sits fifth from the
left end of the row. U sits exactly between X and S. Not more than two persons sit between
X and U. T sits second to the right of S. T doesn’t sit adjacent to U. The one who sits third to
the right of U sits fifth to the left of V. Four persons sit between T and W, who sits third to
the left of Y, who sits third from the end. More than four persons sit between U and Z, who
sits second from one of the extreme ends of the row but not an immediate neighbor of Y.
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21. Who amo %the following person sits between Z and S?

I z 3R s & T 43T 52

) V b) X c) U d) Both (a) and (b) e) Both (b) and (c)

22. Who among the following person sits in the middle of the
row?

e § 9 919 ufda & 7o A 987182

a) S b) T c) The one who sits immediate left of T. d) V e) None of
these

23. What is the position of V with respect to W?

WP TGeH H vHT RIH |1 872
a) Immediate left b) Immediate right c) Second to the right d)
Second to the left e) None of these
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24. How many persons sit to .the left of U?
U® I ﬁ’t_cle? HAfed 9 87

a) Five b) Six c) Seven d) Four e) None of these

25. How many persons sit between.Z and S?
Z 3R s & Ay fha- afad 9 87

a) Six b) Four c) Seven d) Eight e) None of these
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Nine persons P,Q, R, S, T, U, V, W and X are sitting around a circular table but not necessarily in
the same order. Some of them are facing the center and the remaining are facing opposite to
the center. All the persons are sitting at an equal distance between them. U sits third to the
right V. Two person sits between U and T who faces opposite to the center. Neither V nor T is an
immediate neighbour of P. W sits second to the left of P who faces the same directionas T. Q
sits immediate left of W. S sits third to the right of X who sits immediate right of R. S and X
faces the same direction. Not more than two person faces the same directions are sit together.
R and T, not immediate neighbours
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Nine personsP,Q,R,S, T, U, V, W and X are
sitting around a circular table but not
necessarily in the same order. Some of
them are facing the center and the
remaining are facing opposite to the center.
All the persons are sitting at an equal
distance between them. U sits third to the
right V. Two person sits between U and T
who faces opposite to the center. Neither V
nor T is an immediate neighbour of P. W sits
second to the left of P who faces the same
direction as T. Q sits immediate left of W. S
sits third to the right of X who sits
immediate right of R. S and X faces the
same direction. Not more than two person
faces the same directions are sit together. R
and T, not immediate neighbours
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26. How many persons are sitting between X and P, when

counted from the left of P? PH TR A A IR x 3R PP
ey faq safdd 9 872

a) Two b) Four c) Three d) Five e) None of these

27. Who amop%the following sits third to the right of V?
Frafafad § 9 @9 v e g | e R 1R 9671 87

a) Tb) W c) Qd) U e) None of these

28. Who is sitting adjacent to R?

a) Xb) S c) Vd) Both (a) and (b) e) Both (a) and (c) Ej

RP 3T B 93T 82
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29. Four of the following five pairs are alike in a certain way
based on the given arrangement and so form a group. Which
of the following ones does not belong to that group?

& 78 a1 & YR R Fufafad v d 94 aR s
v i afid § 99 § ok U u9g 991 &
fFrafefed 7 9 o4 39 99g I J&ftd T8 872

a) QU b) PV c) SQ d) RT e) WP

30. What is the position of Q with respect to R?

RSP T H Q T RIF |1 8?2

a) 3rd to the left b) 3rd to the right c) 5th to the left d) 2nd to
the right e) None of these
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Ten boxes namely—-P,Q,R,S, T, U, V, W, X, and Y are kept one above the other in a
stack but not necessarily in the same order. Box S is kept fourth from the bottom and
not kept adjacent to box U. Box adjacent to S is kept four places below T, which is kept
just below the box W. The number of boxes above W is one more than the number of
boxes below P. Two boxes are kept between P and Q. The number of boxes between Q
and T is one less than the number of boxes between Y and R. Box R and V are kept
together.

TR AYTG-P,Q,R, S, T,U,V, W, X, 3R Y ﬂ?%wwhﬁw\‘rﬂ?ﬂ%
Waﬁqﬁ’r% PH A gl 91aT s B A1 A N TYTH TR }GT AT 3R

i U & e T8 TAT a1 21 s & e a1el 9Ty 1 T8 IR R < 34T
w%ﬁlﬁmw$aﬁ$=ﬂ%w TIW P HUR I JiFT Bl GST d1ad
PIIBNTATH AP TIPD ﬁ%lpaﬁvaﬁ?ﬁﬂa‘rmiﬁfr%%m&ﬁ?T%

| ST R 3R

éﬁ%maﬁmvaﬁv P 99 & JiT DI I=T A Uh HH
P TS IIY Q@I T g |
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Ten boxes namely-P,Q, R,S,T,U,V, W, X,
and Y are kept one above the other in a
stack but not necessarily in the same
order. Box S is kept fourth from the
bottom and not kept adjacent to box U.
Box adjacent to S is kept four places below
T, which is kept just below the box W. The
number of boxes above W is one more
than the number of boxes below P. Two
boxes are kept between P and Q. The
number of boxes between Q and T is one
less than the number of boxes between Y
and R. Box R and V are kept together.
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S Case (1) 31. What is the position of the box Y with respect to S? S &
g<u # fes1 v &1 R F1 872

a) Three places above b) Immediate above c) Two places above
d) Immediate below e) None of these

<

32. How many boxes are kept between W and Q? W Gﬁ? Q &
Ay fpdq fess T U 82

a) As many as between X and T. b) Three c) Four d) As many as
between Y and R. e) None of these

C| 9 X| 0 O] <| 4 2| =~

33. Which of the following statement is/are not true?
Frafafaa # @ $19 91 $Y9 97 81 8/87

a) Three boxes are kept between V and T. b) Box Q is kept two
places above T. c) Box P is kept just below S. d) One box is kept
between W and Q. e) All of the above statements are not true.
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Case (1)

v 34. Find the odd out? fAYH &T UdT e ?
a) PSX b) QYT c) TRW d) YSQ e) VWR

35. Which of the following box is kept three places above Y?

fAferfad d @ &9 91 fesr v I I WE SR 4@l
T 872

a) P b) Vc) S d)R e) None of these

C| O X 0 O <| 4 | =~
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36. How many pairs of letters are there in the word “GERUNDER” each of
which has as many letters between them in the word as in the English
alphabetical series?

TS "GERUNDER" H (&R} & fod wiie &, o8 A e & o 3d4 gt
31&R & foraq b 3iieh quiarar gaen # 82

a) Three b) Two c) Four d) one e) More than four
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Person A is 7m west of Person C. Person B is 6m South of person F. Person E is 3m North of person
G and 2m west of %erson C. Person D is 8m North of person F who is 10m west of person A.

Afed A AfdacH 7 ufm g1 aafda s, Aafa rp el cfeurd g1 afdd eaafdd c &
3ﬁtﬁ3t?rvﬁ§%ﬁ?w%c%zﬁmﬁ%lw%row%p%srﬁwﬁ'%ﬁﬁw%A%
109} Ufw A g1

37. What is the shortest distance between D and E?
D 3R E & A gIaqH gl |1 3?2

a) 15m b) 20mc) 17md) 22me) 12m

38. What is tlje direction of G with respect to B?
B I d 6 ot fexmwar 82

a) Northwest b) Southeast c) West d) Southwest e) Northeast

39. Which of the following persons is in a straight line?
fafafead & &« a1 fed e i @ d g7

a) CEF b) AEG c) DBC d) AFB e) CED
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40. How many such numerals are there in the number ‘5687264493’ which will
remain at the same position when arran% ed in ascendmg order from right to left?

TT '5687264493' H U fod= 3( g Sl SI¢ ¥ 91U 3MRIg! pH H HAIUd
WWW@IﬁﬁQ;\%ﬁ? RN

a) 1b) 3 c) 2d) 4 e) None of these



http://www.mahendras.org/



http://www.mahendras.org/

